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No. of Questions : 150

YAl =Rt HEAT : 150
Time : 2 Hours Full Marks : 450

qWY : 2 §Ue yuTfE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect

answer. Zero mark will be awarded for each unattempted

question.

HiyepiaE Al H 86 F B 9GS &< | 90F 99 3 ()
3 W B gE THw 307 % [0 O% ofF $Er aEeu

WE AR AET W AE g e
(2) If more than one alternative answers seem o be approximate to

the correct answer, choose the closest one.
gfe uehiitER defeas 307 e 3097 & Feee udia =, of Fesew
& I T

01. Who was the founder of the "All India United Kisan Sabha"?
(1) G. K. Gokhale - (2] Swami Sahjanand
(3) S. K. Joshi (4) Lajpat Rai

“aftgs TR "gEe feam ot & dearas £ 8 7
() wH. %. siaf (4) @ T

P.T.D.
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oz,

03.

05.

Whi_:r one of following said that any Indian could not establish the
[ndian National Congress?

1] B. G Tiak 2) W.C.Hume

(3) G. K. Gokhale (4] M.K. Gandhi

P H & e e we B o wedin dfemw Seme wita o
T el w9y 7

(1) . Sit. faees (2) ==g. W. =
(3) ofi. . s [4) TH. . TR

The Swadeshi movement began in India in the year ;

W W OtERd NI W TOW g9 ¥ gan ar ¢
(1} 1905 (2} 1909 (3) 1916 4 1920

M. K. Gandhi was not associated with :
(1} HNon-cooperation movement

(2] Civil disobedience movement

(3) Quit India movement

(4) Swadeshi movement

UH. . T 3EE TEsS A8 9 o

(1) STEEGIT AT (2) AETE AT AT
(3) =E BEl A (4) wrReft a=tE

Which of the follewing provided the legal basis of the election of the
Constituent Assembly ?

(1) The Cripps Flan

{2) The Cabinet Mission Plan

(3) The Mountbatten Flan
(4) The Indian Independence Act



06.

07.
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sl ST G B emaeE S § Rfts e B oEe

B 7
() TorE <= (2) e FeE @
(3) WSEdET @ (4) ST TSN U
Who moved the objectives Resolution in the Constituent Assembly 7
(1) B. R. Ambedkar (2) G.B. Pant
(3) J. L. Nehru (4) Sardar Patel
dffemr wa o SR gy e me B 7
(1) . sIv. arEEET (2) . &t 9=
(3) &. od. d8= (4) HIET 9ed
Who was not associated with the Congress Socialist Party ?
(1) Jai Prakash Narain (2) Narendra Deo
(3) Ram Manohar Lohia (4) B.R. Ambedkar
Fr=1 ¥ @ O O FiE gaemEt e § gEs T8 ar 7
(1) =19 Y=FTeT AT (2) = &=
(3) W A-reT e (4) St . srEEE
Who continued for six years as the Congress President?
(1) J. L. Nehru {(2) M. K. Gandhi
[3) Abul Kalam Azad (4] G. K. Gokhale
HH HAE FAH F UT GT 6 qGl 7 A 1T 7
(1) &F. oo, 55 (2) TH. . Tt
[3) SAFE FRH g (4) . &. Tge
5

P.T.0O,
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09,

10,

11

At what place the Indian National Congress in 1929, adopted a
resolution for full independence?

(1] Madras (2] Lahore

(3) Karachi (4] Patna

B T 9Y 1929 F weh TsiE sl 3 gl weEEr § aee
1 e a7

(1) =z (2] &mErT

3) (4) 9=

Who one of the following was associated with the Swaraj Party?

(1) Moti Lal Nehru (2) J. L. Nehru
{31 Sardar Patel (4] M. K. Gandhi
=1 % | @ o e 9E § e |00

(1) Wi e AeE (2} A, oF. ATE
(3) HLE 92 (4) wH, &. T
Who among the following is a Marxist Thinker ?

(1} DBerlin {2) Hayek

(3) Stalin {4} Bottmore.
fopsr B i ATEaE B § 7

(1) afeiE (2) B

(3) EEE (4) drErE
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13.

14,

15.
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Who one of the following was not an extremist?

(1) B.G. Tilak (2} G. K. Gokhale
(3] Lajpat Rai (4] B.C.Pal
o1 A | @9 ga sifaardt dl o

(1) =, 9. foees (2) off. & TiEa
(3) T T (4) =t. 9. o=

Who is the author of the book entitled * The History of the Indian
Mational Congress'?

(1} Rajendra Prasad (2) B. Pattabhi Sitaramayya
[3) G.B. Pant (4] J. L. Nehru

I U FiAE SRR NG e w1 e i b7
(1) T v (2) . gEify derorEn

3 M. 9. 9= 4] 9. U, TEE

The Cripps Mission visited India in :
e e e F =9 ad awy

(1) 1940 (2) 1941 (3] 1942 (4] 1943

Who one of the following was associated with the Home Rule League ?
(1} M. M. Malviva {2) Laj Pat Rai
(3] M. G. Ranade (4) B.G. Tilak

P.T.0.
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16.

17.

frst & & #9 uE & we ol @ wee o 7
(1) ©H. oH. AFEY (2) I TF
13) TH, S TR (4) . oft. TR

Who among the following is an utilitarian ?

(1) Locks (2) Roussean
(3} Benthom (4} Green
= & | S Suaifemerd & 7

(1) =% (2)

(3] & 4) A=

Which of the following is mot correctly matched ?

(1} M. K. Gandhi civil Disobedience
(2) M. Jinnah Khilafat

(3) Moti Lal Nehru Nehru Committee Report
(4} 8. C. Bose Forward Block

Frer & & ® gafa 8 § 7

(1) ©H. . T L EREREER]

(2) uq. BT fe e

(3) il @ s Fee Fer frar

(4) ca. ®. G| wieErs @il
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20.
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Under which article of the Constitution Governor has the power of
promulgate ordinances ?

(1) Article 210 (2) Article 211

(3)  Article 212 (4] Article 213
ﬂﬁuﬁﬁﬁmaﬂﬂuﬁmmﬁﬂ%mmm
1 AT & 7

(1) @p=8g 210 (2) SrEsT 211

(3] eTg=mw 212 | TgESE 213

The purpose of article 13 of the Indian Constitution is to establish
supremacy of :

(1) Directive Principle of State Policy

[2) Fundamental Rights

{3) Fundamental Duties

(4) Parliament

mﬂq#ﬁaﬁ%wﬁu 13 H SB¥9 g6 W=y @i S
g

1) T % G PRy w2 T AfEERT

(3) HEHE ==y (4) HHg
Freedom of the Press is not provided by the Constitution: but it is
inherent in
(1)  Article 19 (1) (a) (2) Article 19 (1) (b)
(3] Article 20 (4) Article 21
9

P.T.0.
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O ! WEEr R gy qEeg dEae 7 T8 & g TE
At & ¢

(1) AT 19 (1) (a) A (2) HATE 19 (1) (b) H

(3) T 20 § (4) STgeRE 21 H

21. Which of the following writs by the Supreme Court is issued to stop

22,

legal procedure ?

{1} Habeas corpus (2] prohibition
(3) gquo warranto (4] mandamus

e e B el AT B e wEardl Je & fed
Fie a1 oandl By onen 2 7

(1) =TT AR (2) TiaHeE
(3) e (4) TCHIES

Which one of the [ollowing influenced most the making of the Indian
Constitution ?
(1) The British Constitution

(2] TheU. 8. Constitution
(3) The Government of India Act, 1935

(4) The Canadian Constitution

fafryr wfaams & Fmior A Frey 3 i U 1 EEiTES WAE 95T A
(1) fafeer Giaem &

(2) e T STHIGH # wiauE

() HrRd arr A, 1935 F

4] ST B FETT W

10
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23. Which of the following fundamental rights are available the Indian
citizens only ?
{1] Prohibition of discrimination on grounds of religion, race, caste,
sex or place of birth

(2) Prohibition of traffic in human beings and forced labour
(3] Freedom of religion
(4] Protection of Life and personal fiberty.

Fr=Tieiaa & & & o Wi sifvsr 39w 9g 3 TfiE §1 &

o B 7
(1) w, gwew, e, BT o1 o e 3 e o ReE o
aferdrg '

(2) #FE # TR ofiT gea =m = ofaag
[3) & % =TT W= osIEE
(4) o7 S Bfgw w@EwEr S ey

24. The Clause equality before Law in Article 14 of the Indian Constitution

in influenced by :
(1) British Constitution (2) Constitution of the U. 8. A,
(3) French Constitution (4) Bwiss Constitution

A WA B BT 14 7 Ry & awer wween g @
(1) Rfewr dfem @

) TR T AR B e

(3) ®iE & Hfaar &

() whe R &

11
P.T.0.
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25. Under which of the Constitutional Amendment Act, the chapter on

26.

27.

Fundamental Duties was added to the Indian Constitutional ?
(1) 40th @) 42nd  (3) 43rd @) 44th

Fra wiaur dere sfafma & =i gergg Foel @ e
A HiEuE § e @ o7

(1) 40 i (2) 424 (3 434 @) 44 4

As per Indian Constitution in State Legislative assemblies the minimum
number of members are :

sl dfaE & sl e R el B FEEl & S
e B o
(L) 30 [2) 40 (3) 50 (4] 60

Which one of the following is not correctly matched ?

(1) Acticle 39 A Equal justice and free legal aid

(2] Article 44 Uniform Civil Code

(3} Artcle 48 Separation of judiciary from
executive

(4) Article 31 A Fundamental duties

Prer & @ e o gARE T8 R 7

(1) =T8T 39A T e o Frges B

' HET

(2) TR 44 st & fom o e R
s

(3] TR 48 TR o ST H
TR

) g RS AR

12
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In which of the following article of the Indian Constitution it is stated
that it shall be duty of every citizen of India " to protect and improve
the natural environment" ?

(1) Article 19 (2) Article 21

(3) Article 30 (4) Article 51 A

F=1 # § A S & R oigese § 98 @ T & B ae
¥ Al AEiEt @ wee e B as wEios gatErer @ wn
uE Heely wE 7

(1) =T 19 @) ST 21

(@) sIgST 30 (1) STgBT 51%

29,

The Secretariat of the Lok Sabha is controlled by :
(1) Central Home Ministry

(2) Ministry of Parliamentary Affairs

(3] Speaker of the Lok Sabha

(#) Prime Minister

A% T B afeEe R g § o
(1) #=r" T8 d@9wE &M (2) wEEE "EE ® HAwg &
(3) wr® W B oeds BU (4] WS =T

Which one of the following is net included in the State List?
(1) Law and order (2) Education
(3) Jail (4) Police

13 P.T.O,
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Fe 0 | i o Tew gl § s e 87
(1) =g uE e (2) Farer !

13 (4) gferE

31. Freedoms included in Article 19 of the Indian Constitution can be
suspended by the Indian President under |

(1) Article 332 [2] Article 355
(3} Article 356 (4} Article 359

m@zmﬁaﬁa@amﬁm%ﬁﬁmﬁﬁmﬁﬁwﬁﬁ
-ﬂg@?%mﬂﬁ%ﬁamm%:

(1) ST 352 (2) #Aqes 355
(3) ATVT 356 (4) STfEHE 359

32. Which one of the following is met a function of the Indian Prime
Minister ?

|1} He coordinates functions of different departments
(2] He presides aver meetings of the cabinet
(3] He prepares the list of subjects for cabinet meetings

(4| He presides over the joint sittings of the two Houses of Parliament.

ﬁﬁﬁﬂﬁﬁﬁﬂﬁﬂ%ﬂﬂ?ﬁﬂnﬂﬁﬁiﬁzﬁrﬂﬁﬂﬂ%?

(1) ﬁﬁﬁ?ﬁ“ﬁ?ﬁ%ﬁﬂﬂﬂﬁﬂﬂﬁ%ﬁ%

(2} aﬁﬁﬁm‘?ﬁrﬂﬁaﬁﬁﬂwﬁwmm%

(3] @ s @ Foat & g fredt @ e = @

(@) wﬁaﬁ%ﬁﬂﬁﬂﬂﬁmﬁmmﬂm%

14
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34.

35.
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Which one of the following is correct?

{1l Governor can be removed by Parliament

(2] Governer can be removed by State Legislative

(3] Governor can be removed by the President of India

(4)  Governor can not be removed before five year

M= & & e o owd R 7

(1) IYT &l HH5 B2l Gehe B

(2) TFEIE W U S R wer mwd

(3) TEURE @ weEg Tty == awer 3

(4) T Y o9 36t F ood wd e o7 gEar 2

Which of the following article provides for impeachment of the President ?

(1) Article 60 (2) Article 61
(3) Article 62 (4) Article 63
ﬁﬁﬂﬁ%ﬂa@aﬁw%mﬁ:ﬁwmmﬂﬂﬁ%?
(1) “#rges= 60 (2) 7787 61
(3) Tg=dw 62 (4) ST 63

Which one of the following is related to Panchayati Raj?
(1} Santhanam Committee (2} Shah Commission

(3 Ashok Mehta Committee (4

Kothari Commission

18 P.T.O,
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EE!

Rrer § 8 €9 U g U9 § 998 67
(1) He=a HAL (2] <ME HHEA
(@) W9l Haar HHd (4) rerd wiE

Sarkaria Committee Report is related to :
(1) The Election Commission {2) The Planning Commission

(3] Centre-State relation (4) Judicial reforms

HTEITAT S W A gEE
|1y I ST 8 (2) drorn AT ¥
I et e s (4) wtaE guT #

37. The Controller and Auditor General of India can be removed from his

office by :

(1) The Lok Sabha

(2) The Prime Minister
{3) The Supreme Court

(4] In the same manncr as & Judge of the Supreme Court

wmmﬁﬁmmmmﬁmmm%:

(1) @ @ & &
(2) waw A& T

(3) e e ® &
(4] ﬂmﬁﬁﬂﬁmﬁ%ﬁﬂmmﬂm%

16
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38. Who write the book entitled "Politics in India Since Independence” 7

(1) Jennings (2] Austin

{3) Paul Brass (4) Rajani Khotharn
“diferiesd & ghean e fRUE= @ s o § 7
(1) S (2) aiftes

(3) G =T (4) T ST

39. In the Indian Constitution who is regarded as the Guardian of
fundamental rights ?

(1) The President (2) The Prime Minister
(3) The Judiciary (4) The Legislative

AT wfEae F B e sifteeRt @7 d@es qr £ 7
(1) Ty (2) wETEE

(3) =i (4) IR

40. In order to elect the Vice-President of India the electoral college
consists of :

{1} Members of the Lok Sabha

(2} Members of the Rajya Sabha

(3] Members of both the Lok Sabha and the Rajya S8abha
(4) Members of Legislative Assemblies of State

17
P.T.O.
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41,

42.

A & Iy F g & R Maiees qEe & el e E
(1) & |97 & HJa8 &

(2) 9 9 % @5 B0

(3) R |/WT uE Tog 6w 6 geel &N

(4) gl F P wwrell & Wl &

Who decides whether any Bill is or is not a Money Bill?

{1} President (2) Prime Minister

(3) Finance Minister (4) Speaker of Lok Sabha

st Pty i e © fe o fades oo R B e @i
1) e (2) WEHEL

(3) Fra == (4] @R \WAT I T

In which of the following cases, the Supreme Court decided that basic
structure of the Constitution can not be amended ?

(1) Golak Nath Case (2) Keshvanand Bharti Case
(3) Minerva Mills Case (4) Shankari Prasad Case

et | © TRE e H geEad T & 98 e 6 wRee & 99
ofd i weif wd R o awer ¥ 7

(1) e AR g (2) FerErE Tl GRS
@) Pt fem g @) SieFT TEE T

43. Who decides a dispute concerning clection of the Vice-President?
{1] Election Commission (2| Parliament
|3} President . (4) Supreme Court

18
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Ty & Prate werd e s B Fota s 37

(1)
(3)

Faras s
T

44. Who is an idealist?

(1)
(3)

Laski
Hegesl

SAEstarEl e B?
(1) Tt

(3)

ghter

(2) HHEE
4 I=FRH Ay

(2) Austin

(4) Macaiver

2) aTiEs
(4) FeEEET

45. Under which article Parliament can form a state?
1)  Article 2

(3)

Article 4

(2) Article 3
(4) Article 5

Wﬁﬁﬂﬁ%ﬁiﬂﬂﬂﬁ‘%ﬁiﬂ#ﬂﬁﬂ?&w%m
Gal oncdh v

(1) =8z 2

(3]

T 4

(2) wigesT a
(4) TR 5

#6. Which of the following is not correctly matched ?

(1)
12l
(2}
(4]

Abolition of titles

firticle 18
Equality before Law Article 15
Right Against exploitation Article 23
Protection of interests of minorities Article 29

19

P.T.0.
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47!

48,

Prsi § & A gifed o8 & 7

(1) SofEr #r ora sl 18
(2) Tafg & w=er g aTRT 15
(3) o ® frew sfumw oTgERE 23
(4) FrEaEE & Rl @ owweT =Y 29

Who one of the following is not a pluralist ?
(1) Bodin (2) Laski
(3} Maclver (4) Barker

Frer § & @19 os Sgoard T8 ¥ 7
(1) @ (2) A

(3) erEgaT (4] WHT

Who one of the following said that right is an external condition for

inner development of man ?
(1] Hobbas (2) Locke

(3] Rousseau (4} Green

ﬂﬁﬁ?ﬂﬁﬁlﬁiﬁﬁﬂﬂﬂfﬁﬁﬁﬁﬁiﬁlﬂ%ﬁhﬁﬁmmﬁ?

(1} =4 (2) @R
(3) =&l @) A
49, Who is the author of the book entitled *The Demacratic Theory™
(1] Macpherson (2] Sartory
(3) Dahl (4)" Hegel

20
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“z Tl Al A g @ oad de §7
(1) HFwes () @mEr
(3) =¥ (4) B

The Seventh Schedule of the Indian Constitution in related to :
(1) Forms of cath

{2) Allocation of seats of the Council of States

(3) Division of Powers between Centre and State

(4) Panchayat

Ay diews &t gt sHEEt 3w = B
(1) 9% % gy

(2) 9 WH F w=E @ InEeT

(3) = o oGl & A siRREl ST RAEeE
(4) o=

Who of the following revived social contract theory in a new form 7

(1) Amratya Sen (2) John Rawls
(3) Leo Strauss (4) Berlin
M= A & Rea™r wrfer i & Ryada o7 ovdmr 53 w9 # R ?
(1) ek &9 (2] T Aew
@) T & (4) aff
Who was the first to use labour theory of property?
\1} Locke (2] J. 8. Mill
(3] Bentham (4] Marx
21

P.T.Q,
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e & =W FHEa @ mEe afoaes S oar ?
1) i (2] . gq. e
(3] A7 (4] e

53. Who said that property is a natural institution ?
{1} Plato (2) Aristotle

(3] Hegel {4) Marx

ne faad we 6 wmfs oo wer g 7

(1) wi=r (2) oTTE,
(3) &= (4] T

54. The Communist Manifesto was written in the year :

(1) 1830 (2) 1848 (3] 1856 (4) 1871
Frgfree Afheel gd ad A fomr T

() 1830 d (2) 1848 %

(3) 1856 % (4) 1871H

55, The Concept of popular sovereignty is associated with

(1) Locke (2] Rousseau
(3] Bentham [4) Laski
ot T A =a® Y GEG O
(1) = (21 &=
(3 (4)

22
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ST.

28,

16P/241/3

Wheo supported the legal theory of right ?

(1) Laski (2] Austin
(3) Barker (4) Hegel
FIA! SAEHT & a1 queds f= 2
(1) wr=h (2) e
(3) =T (4) e

Who of the following thinkers said that in the State of nature two

contacts look place P

(1) Bodin (2) Hobbas

(3] Locke {4) Rousseau
ﬁqﬁﬁfﬁaﬂuﬁm&mmﬁ%mﬁ%@?
(1) e (2) Br1H

(3) == (4) =

In which of the following Theory of Rights it is said that Rights are
based on traditions and conventions of the society ?

(1) Theory of Natural Rights

(2)  Theory of Legal Rights

(3] Historical theory of Rights

\4] Idealist theory of Right

L P.To
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59.

frr 3 & offtrew & Bra foers ° 9 w8 T ® B SO =
Sure weTh oY od gund § 7

(1) wipfas afuew = e

(2) AfEERIT W FLA ST

(@) s F et e

(4) SRR @ aEeEE ST

Who said that self preservation is the basic right of individuals ?

{1} Hobbas (2} Bodin
(3) Austin (4) Benthom

ﬁﬁ?ﬂﬁmﬂﬁﬁwﬁmﬂmﬁaﬁmﬁﬂﬁﬁgﬁm

&7
(1) &=4 (2) =i
(@) o= (@) e

Who of the following supported proportionate equality among citizens ?

(1) Plato (2) Aristotle

(3) Green (4) Marx

Sras A & Wey g FH W e v
(1) = (2) I

@ IH (4 e

24
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Who said that freedom is a positive power or capacity to do things
worth doing or worth enjoying 7

(1} Rousseau (2) Bentham

(3) Hegel (4) Green

e FAES T & wds S R 91 s & a5 d
HH B o € S w9 Org a1 A O e 4 By B 7

(1) w= (2) F=m
(3) e (4) #=
Who one of the following is net correctly matched ?
(1) Plato Republic
(2) Aristotle Politics
(3) J.8. Mill Grammar of Politics
(4) Kautilya Arthashatra
Frer & & @ gAfewr T8 2 7
(1) Frafasrs
[2) HTH] ity
(3) o, oH. fiwr T ST difetesg
(4) =Hifeeg e
Who of the following is not a supporter of pluralism ?
(1) G.D.H. Cole (2) Mclver
(3) Laski (4) Austin
Frfafaa & @ agwar F1 qwefs w8 &
(1) oft. #. o=, F9 2) e
(3) e (4) afifezy
25
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64. Who supported Partyless democracy?

65.

60.

(1) G.B. Pant (2) Sardar Patel

(3} Jai Prakash Narain {4} Rajendra Prasad
EAEE e = e aede R

(1] =it. &t v& . (2) WET g2

(3] = g AEe (4) TEE TG

Which one of the following i1s net correct about Marxism ?

(1) Historical Materialism {2) Class Strugele

(3) Welfare State (4) Labour theory of value
Frer & § 9 uF Aedae & faog § T8 ¥ 7

(1) Cfefys difEmmae (2) @i e

(3) TR T @) T e R

Which is not correctly matched?

A | B
(1) Barker Pluralist
(2) Austin Monist
13}  Rousseau Pluralist
(4) Gram Sci Marxist

S & @ S AR 8B 7

F £
(1) @t EEREIR
(2] BN TR
@ ﬂgf’ﬁ” E'f
4] !lT'ﬂEﬁT

26
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16P/241/3

Who said that in absence of economic freedom, political freedom is a
myth ?
(1) Hegel {(2) G.D. H. Cole

(3) Laski (4] Green

T TR wE B anfis wdser & s § TR wEEa
Freqfs & 7

(1) #Fw 2 of. . ug. F

(3) = (4)

Who one of the following is not correctly matched?

A B
(1) J. 8. Mill Utilitarianism
(2) Hobbas Separation of Power
(3) Locke Natural rights
(4) Rousseau General will

Bt & @ 9 o gitfem @ 2 2

& &
(1} 9. od. Mg IS
(2] B G CEE T
(3) SIEARE e B eary
(4) = GIEEIEEC
27
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69. Which one of the following is not correctly matched ?

A B
(1) Marx Democratic socialism
(2] Meclver The modern State
(3} John Rawls A theory of Justice
{4) Plato The Statesman
M= @ F o ghkew @l E v

o -
(1) R Erpies el
(2) =TT g A= ®2¢
(3) A Tew U A s dieEw
(4] EET T WEEHA

70. Candhi Ji was influenced by :

(1) Hegel (2) Marx
(3) Bentham (4) Tolstoy
el off wefEe @
(1) @ & (2) W q
(3) e A (4) =wEE |

inn?
71. Who said that state of nature was a stale of peace and co-operation:
Locke

Green

(1) Hobbas 2)
(3] Rousseau [4)
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73.
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g f6H- e B arpftes o o oF |edrT &t arawern 7

(1) Br=H (2) olR

(3) == (4) #=

According to Plato ;

(1) State has evolved (2) State is prior to Individual
(3) State is divine (4) State is individual unit large
WL & AFEN ¢

(1) =9 o Pl der &

(2) U9 =iRE § gf @ b

@) g ¥R

(4) T SfRTEl w1 Rt =g

Who said about general will that if it is a will it can not be general and
if it is general it can not be will ?

(1) J.S.Mill (2) Hobhouse

(3) Green (4) Laski
Hﬁﬁﬁmm%mﬁﬂsﬁmﬁm&w&ﬂsmﬁ.%
HH T wn ¥ ofY af aw wrrw & aw gw e 9 R 7
(1) & og. fm (2 =g

(3 | (4) T

ae P.T.0.
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74. Which of the following was the first Satyagrah initiated by Gandhi Ji ?

(1) Champaran Satyagrah (2) Non-cooperative Satyaghah
(3) Salt Satyagrah (4) Individual Satyagrah

sy & & s et off @ @ATCW FRaT T UBST Seade o i
(1) =R JEws (2) STHEGTT HEWE

(3] -HEF HEHE (4) SIFERTTA HodTHE

75. Which of the following is not properly matched

A B
1) Maikiavella The Prince
(2) Rouasseau The Social Contract
(3} Nehru Discovery of India
(4] Marx State and Revolution
ey i @ B g w8 B 7

B &l
(1) B 7 fim
(2) & g HIYE e
(3] TE® Framad offe gosa
(4) HTEH e g A

76. Who said, "Every state is known by the rights it maintains” ?

(1} Barker (2} Laski
(3) Garner (4] Bryce

30
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a8 e wmE CUEE TS S St | onET s 20 7

(1) ==he (2) @R

(3) T (4) =g¥

Whosm name is associated with the Saptang theory of State ?
(1) Kautilya (2] Gandhi

(3} Aristotle (4] Maikiavelli

T & AT Rrer @ wrg R e s BT

(1) s (2) Wl

(3) orts] = (4) BfFgrEEl @

Who supported the theory of cyclical change in the form of
government?

(1] Plato (2) Aristotile
(3) Bentham {#) Mill
ﬁwﬁ@rﬁmﬁm%aﬂﬁﬁﬁaﬁa%mﬂwm?
(1) @y (4] SAE]
(3) = (4) Fore
Who propounded the theory of political obligation 2
(1) Rousseau- 2) J. 8 Mill
(3] Hegel (4] Green
R forame & it ofe + fara &1 waefy s ?
(1] ==&t 2 S o". fe
(3) & (4) e
31
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80.

81.

82.

Who said that man forgets the death of their father but not the
patrimony ?

(1}  Machiavelli (2) Hobbas

(3) Hegel (4) Manu

e B et P sty oTo e & wcg @Y w3 s @ e i
SAfeErTe B TS e ¢

(1) AfEEEEEh (2) €r=d

(3) & 4 =3

Which of the following is not considered as a component of national
power ?

(1} National Character (2) MNational Eesngmca
(3) Party system {4) Leadership
ﬁmﬁﬁhﬁr@umﬁamaﬂqﬁﬁwm%?
(1) i At (2) T wET

(3] ==t o (4) e

In which of the following Con stitution International peace and securily
has been stated as one of the objective ?

(1) American Constitution

(2) French Constitution

{3" Indian Constitution

(4) Eunﬁﬁmﬁ“n of the Chinese Republic

32
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Frer 7 @ farg wfaum 7 oISt i o GO @ oF 32 §
= ¥ Ee B o g ¢

(1) s diaas (2) W A
(3) e =W wEEE © (4 R TR W T

The first non-aligned conference that took place in Belgrade was held
in the year :

Y-t 2l W guH e off dads § g em, gH ad #
e oo

(1) 1960 (2) 1961 (3) 1962 (4) 1963

What purpose the balance of power theory attempts to achieve ?

1) Status quo [2) Super power of the stafe
(3) Imbalance (4) War |

TRT-HGTT o Remrr v wam o s e e & 7
(1) Tur-fegf (2) @ T T ayen

(3] STHgEA (4 Z=

In what year the U. N, adopted its Declaration of Human Rights ?
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86. The principle of "Panchsheel” was signed between India and China in

87.

the year :

(1} 1951 (2) 1952 {3) 1953 (4) 1934
99 o | o gW oad Cdusim” o semew R e

(1} 1951 % {2y 1952# (3} 1953 % (4) 1954 H

Globalization means :
(1) Integration of political system
(2] Integration of world economy

{3) Integration of social system

(4] Integration of bureaucracy

ﬁ"ﬁ“ﬁaﬂ'ﬁlﬂﬂﬂi:

(1) Frsa aft Troiioes sEeenad & s
@) Tagg @i avel SEEEnAt H CHHTT

(3 Freg & APIToRE saearall & ChiH

4 Faga 9t Trecanel sl F T

The Gujaral doctrine an pronounced by Indian Prime Minister Gujaral

was addressed to

(2) U.S.A

i uring Countries
(3) Russia (4) Neighbo 5

34
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Indo-Soviet Friendship Treaty was signed in the ycar .

(1) 1971 (2) 1972 (3) 1973 (4) 1974
wre-aifeas e ot 39 ad i & od ot -
(1) 1971 (@) 1972% (3) 1973 (4) 1974 F

The Eisenhower Doctrine was concerned with -

(1) EastAsia (2) South Asia

(3} Middle East Asia (4) Europe
AR R 1 weg o7

(1) ot ofimm & (2) sféror afeem &
(3) weA-gd ofyrr & (4) Tl &

The term cold war was used for the first time by :

(1) Stalin (2) Truman

(¥) Barnard Baruch 4) J. L. Nehru

- 9 g W= W wEe e uew Rar

(1) w3 (2} TR

(3) It =g F (4) *. o, FEE

The Soviet Union invaded Afghanistan in this Year

{1 1977 (2] 1978 (3] 1979 (4] 1980

mmﬁﬁa&ﬂwﬁmwmﬂrmm:

(1) 1977 & (2) 1978% (3) 1979 % (4] 1980 #
35
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93. Main reason for the end of cold war was the policy followed by :

95.

(1) Stalin (2] Breznev

(3) Gorbachov (4] Mao

ofi g =t wmre we @ fom Reaal Aifr @ ger gfver o 7
(1) T (2) HEE
(3) TEETEE (4] WAt

Which of one following statement correctly describe the theory of
new-realism as propounded by Kenneth Waltz?

(1] Stractures are more important than agents

(2] Agents are more important than struclures

(3] International organizations are more important

(4] Human nature is more important

Com B X T wE S B9 g & Ag-guEars & A T
T & 7

(1) Toa=md war 8 ged ©

(2) el deanell & g B

(3) orEAEE Hed e

(4) WG WA e E

The main determinant of foreign policy is :

(1) to secure peace
(2) balance of peace
(3) to secure national interest

(4] to help international organization

36
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fer ifer 1 qer SRew B -

(1) snf=T = T

(2) i HEEe 1 AR T

(3] =g feat &t mity

(4) ST HeEnst @ wermer S

The Second World War was fought between :

(1) 1939 to 1944 (2) 1939 to 1945
[3) 1940 to 1945 (4) 1940 to 1044
teia Beage @ aw o

(1) 1939 & 1944 (2) 1939 | 1945
(3) 1940 | 1945 [4) 1940 & 1944

Who nominates the Chairman of Public Accounts Committee ?

(1) President (2) Prime Minister
(3) Speaker of Lok Sabha (4) Cabinet

ST e 1 T 0 g S — g7
(1) Trerafer (2) oemrersht

(3) & "9 W wfer (4) HE1 H5B@

How a member of the Union Public Service Commission is removed 2
(1) By the President

(2} By the Union Home Minister
{3} By the process of impeachment

(4] By the Prisedent on the basis of a report of the Supreme Coury

37
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99.

ST ol AT STE § " W R gET S9H 9= H ser @n
Hel & 7

(1) reafd & &M

(2) W& TEEE '

(3) #HHE & wEfwEeT & &

(4) Feaw e & E 4 T R & s 9 s &

In the development of Public Administration what was correct order
of development of different schools?

i) Secientific Management theory

(i) Human Relations therory

{iii} Bureaucratic theory

liv) New Public Administration

Code :

(1) (i), (i), (i, fiv]

(2) (i), (i), fiv), (i)

(3) (i), (v, (1, (1)

4 (3), i), ), 1)
mwiﬁm%mﬁﬁﬁﬁaﬂﬁwﬁﬂﬁﬁmwi
Fr 9 geEar 9 g% gl HY geengs
(i) EnfER gaae ST

Gif e deet @ s

(i) el R

(iv] e S-S

E{-ﬁ'g :

() (), (), (i), (@)

(2) (i), i) (v, (iii)

(3) (i, v, 1), )

() (i), (i), (@ (i)
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100.The Concept of new Public Administration is associated with :
(1) British Institute of Public Adminstration
(2) American Society of Public Administration
(2) Indian Institute of Public Administration

(4] The Minnobrook conference

T FIE GITEE ST T e e ¥
(1) BfEw f&ege ote oftmes oefMfrdem

(2) ﬁmﬁﬂmﬁmﬁm@ﬁrﬁ&m
(3] =399 deiegr offe ofems vefafrems

(%) s smetes

101. How thorne experiment relates to :
(1) Scientific element in administration
(2) Human relations in administration
(3) Financial element in administration

(4] Organisational element ip administration

Eﬁmnﬁnﬂﬂﬁmﬁqﬁaﬂraﬁm%:
(1) wsmest & enfoes o |

(2) memeE # gMdlg ddy G

(3} W ¥ R G @

(4] "TITEA H HE s gy

39
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102. Who is associated with development administration ?
{1} Taylor (2) Elton Mayo
(3] Riggs (4] Weber
fErenre wemEe & Rt Gy B 7
(1) W (2) awed @4l
3) w [4)

103. Which of the following is the correct statement of the composition of
Public Accounts Committee?

Lok Sabha  Rajya Sabha  Total Member

(1) 12 08 20
2] 15 07 22
3] 16 06 22
4 13 07 #a

'ﬁmﬁﬁﬂﬁﬂﬂﬂ?ﬁtﬁimﬁwﬂﬁﬁlaﬁm%faﬂﬂm
g7

ekl T AT |/ W
) 12 08 20
@ B o Zz
%) e ” 20
{4] 13 o7
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104. State Governers in the U. 5. A. are :
{1} Elected by the Congress
{2) Appointed by the President
{3) Elected by the people:
[4) Elected by the members of State legislative

g T AR § Teat & e
(1) =HIw zra Faif 89 &

2) rgafr o P fEa ond &

(3) == &y Faffaa 8 &

4) T Fam woEd & et & aw el a9

105.The British Prime Minister is ;
(1) Nominated (2) Selected
(3) Elected (4) Appointed

fafesr g o= frm s & -

(1) == 2) =afE
(3) Faifem (4) FrgE
106. Madern Party system originated first in :
1) U.S.A (2] France
(3) Britain (4) India
41
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A S Uel & o fRE 39§ EHT 7
(1) HgFE =g arAien o (2) | o
(3] faea (4) W H

107. Which one of the following country assigns residuary power to central

Government?
(1) U.S A (2) Switzerland
(3] Australia (4) Canada

Frer # & 49 UF S S@dy QIERET B G W oadl 8 7
(1) wgET T IR (2] EEAEE
3] amEEErm (4) =T

108. Who wrote the book entitled "Comparative Politics - A Developmental

Approach” ?
(1) Lasswell (2) Easton
(3} Almond (4) Parsons

e e ¢ of SAETvEE ST’ HNE GEE S
B 7

(1) IR 2) T

@) SIS (@) TE
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109.The Indian President can consult The Supreme Court under
Article.....of the Constitution :

WG sy Sy wEeE § deE § ... o $
AT e T g% © o
(1] 141 (2) 142 (3) 143 (4) 144

110. Which of the following principles operate in a Presidential form of
government ?
Answer with the help of code given below :
[} President has real powers
1)) President is responsible to legislative
iiiij Seperation of powers
[iv) President is not responsible to the legislative

Code :
(1) i i, iii, iv (2) i, i, iv, i
(3) i, i, iv, ii @) i, i, v, iii

ﬁmﬁiﬁﬂﬁﬁﬁ-ﬂﬂﬂﬂﬂﬂﬁ%ﬁﬁﬁﬁﬁfﬁ%ﬁﬂﬂﬁ??
ﬁ?‘&ﬂﬂgﬁq‘rw&

() Tt &t ol awafes e @

(i) ﬂqﬁﬂmﬁm%nﬁmﬁh%
(i) o3 Frsremy = Faaia
{ivjmﬁrm‘ﬁmﬁ?ﬁr%mwmwﬁmg
FT -

(1) 1, i, i, v

L]

(2) i, dii, iv,i

(3) i, iii, v, (4) i, ii, iv,ii

43
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111. Who said that the U. 8. President is more and less than the British

King : he is more and less than the British Prime Minister ?

(1) Lawell (2} Laski

(3] Munro (4) Finer
wﬁﬁ%mﬁiﬂgﬁmﬂﬁﬁwwmﬁﬁﬁﬂ%wﬁ

Hﬁmﬁﬁaﬁ?mﬂ%:wmﬁmmﬁﬁmtﬁ%ﬁr
T:I-?H‘!fr?.:

(1) e (2) TR
(3) g (4) WL

112, Which of the following is called mother of Parliament 7
(1) Indian Parliament
(2) U.S. Congress
|3) British Parliament

(4] Federal Assembly of Swetzerland

ey # A PR e A o A e
(1] A G

o) ST S

@) fafzsr HEE

(a) oS A H T
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113. In which of the following Indian State the office of the Lokayukta was
established first?

(1) Bihar (2] Rajasthan

(3) Maharastra (4] Assam

M= R & e e g | S @ P aad wes @ o 7
(1) FEEr (2) TR

(3) wET (4] @rE™

114.In which of the following form of government the upper house of
Parliament is necessary?

(1} Parliamentary form (2) Presidential form
(3) Unitary system (4) Federal form

ﬁwﬂﬁmﬁmmﬂﬁmﬁmﬁﬁé?
(1) e =rgeem o (2) ST=OEHER aygey o
(3} == HIm eugem § (4) T " ey §

115. Which one of the following is not correctly matched?

A B
(1) India Federation form
(2) U.S. A Presidential form
(3) Australia Unitary Government form
(4) Switzerland Plural Exccutive
45
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Pt & & ot o gl ot 7

5 &l

(1) T T SR

(2) Hyw U AR SR ST
3) AR RIS T ST
(4) e el TR

116. Which one of the following is not correctly matched ?

A B
(1] Proportional Representation Thomos Hare
(2) Professional Representation G. D. H. Cole
(3] More than one Vote J. 5. Mill
(4) Only educated should have Rousseau

right to vote

Frer 7 @ @ um gARE T 7

7 &l
(1) srgofes sfaf+iae Ditr: L
(2) SEEE A T P P
(3) U A fEEs 6 FA. o, B

) e e & & A =)
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117. Who holds the view that proportional representation is situation of

development of multiparty system?

(1) Lenin (2] Mitchels

(3) Duberger (4) Bentham

TE FowE A9 & B arguitass st aeaia goneh B somEn 3
&?

(1) =it (2) Ferdrer

(3) zEeit (4) ey

118. When the Communist (Marxist) of India was formed?

Wﬁﬁﬁﬁﬁ{ﬂ'ﬁﬂaﬁ)#waﬁgzﬂ P
(1) 1960 (2) 1961 (3] 19A3 (4) 10R4

119, Who has =aid that the British Prime Minister is “The Sun around

which other planets revolve" P
(1) Harold Laski (2)  Iver Jennings

(3) Lord Morley {4} Walter Bagehot

ﬁﬁﬁﬂ%mmﬁiﬁﬁmmﬁmw%mmmm
oo & 7

(1) ez =e (2) €& AfE

(3) it et (4) AT dwete

T P.T.0,
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120.What is the maximum term of the American President ?
(1] 10 Years (2] OB Years

{(3) 09 Years (4) 12 Years
s Tty W afawaw wriEE fRe @ g 7
(1) =@ ¥ (2) ame T4
(3 it ad (4) e ad

121. What makes power authority?
(1] Charisma (2] Legitimacy

(3) Foree (4) Tradition

o g Ol A gedl & 7
(1) &esr § (2] Huem B
(3) of & (4) TOTd H

122, What is true about caste?
(1} Casteisan economic Category
(2) Caste is a social Category
(3] Caste is a political Category

i4) Caste is a moral Category
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ity & el A E 7
(1) =y o anfEds w9+ &
(2) =Ry o T w9 R
(3) WY oF TeEeE d@a #
(4) =y uw S waT ®

123.Who has given the concept of iron law of oligarchy ?

(1} Robert Mitchell (2) Mac Pherson

(3) Lenin {4} Maurice Duverzer
Heqd F Ae gw F B e B ko7

(1) = mae (2] WF mEEA

3) @ (4) witE gaeiT

124, Under which article of the Indian Constitution President has the power
to issue ordinance during recess of Parliament ?

(1) Article 118 (<) Article 114

(3] Article 122 (4) Article 123

wedta W & fea siges @ erld TSR @) dEr G
et § ey v w A ae o S 2

(1) #T=87 118 (2) ST 119

3) g 122 [4) STHT 123

= P.T.0,
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125. Who believed in the divine origin of State ?
(1} Manu {2) Plato

(3] Aristotle (4) Hegel

T 3 5 Iy & foera & de A B 7
(1) =9 (2) =it
(3) (4 EE

126.Who said that political system is concerned with ‘authoritarian
allocation of values' ?
(1) Apter 1 {2) Almond

(3) Charlesworth (4) Easton

e T wE T T aEen o aae et & S
Mo & & 7

1] =X (2) SIS
(3) AT (4] A

127. Which article of the Indian Constitution provides for participation of

workers in management 1o industries ?

icled3 A
(1) Article 43 (2) Article

icle 47
(3) Article 45 (4) Article

50
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HiaurT @ e AqeRs & a0 SERT & ggeas § g & oarr ae
I TEa R T g 7

(1) TTeR% 43 (2) #TERT 43 A
(3) BT 45 (4) ATWT 47

128. Which one is not correctly matched?

A B
(1) Social contract J. 8. Mill
(2) Individualism Spencer
(3) Idealism Hegel
[4) Dialectical Materialism Marx

A8 gae o RY

3 L]
(1) s ﬁnﬁm .y, o
(2] =iFaE T
(3] wrEstar Bty
[4) E-2THTF Ay HiFe
51
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129. Who said, "Socialism is live a hat that has lost its shape because

every body wears it ?"

(1) G.D.H. Cole (2) C.E. M. Joad

(3) T.H. Green (4) H.J. Laski

FreTt =T &, AT o it & A & e gl g @
i & & gde AR 98 arer s 87 7

(1) s FouE, wmE @) . . uH. s

(3) <. g, @+ (@) T, . wEh

130.Which one of the following is net a work of Jawaharlal Nehru ?
(1) Discovery of India
(2 The Unity of India
(3) Glimpses of World History

(4] Socialism and the MNational Revolution

mﬁf&ﬂﬁﬂﬂﬁﬂ-tﬁ:ﬁﬁﬁﬂmﬁﬁ_ﬁﬂﬂ%?
(1) f Feeradl o glosa

(2 ﬁwmm

) Frorerde o aes 1w

@ A s & AeEE R
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131. Which one of the following is a distinguishing feature of India’s foreign
policy ?
(1) Stress of non-alignment
(2] Joining of American bloc
{3] Joining of Russian bloc

(4] Intervention in the internal affairs of neighbouring states

F=leET § & @ ane & fRw W = ooge awer 27
(1) FeFrdem

(2) A 2 H wies

(3) &4 Y2 T iR

(@) S wdt & ot wwe § seEy

132, In which Congress session the moderates and extremists were united ?
(1] Lahore (2] Bombay

(2} Allanabad (4} Lucknow

(3] EFemETErE (4) “TETE

i P.T.0.
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133.The Tenth Constitution Amendment Act. 1985 is famous for

envisaging:

(1) Anti-corruption law

(2) Anti-landmine law

(3] Making the right to property a legal right

(4] Anti-defection law
i TR Heltersr 1085 FRE QT & fog WS # 7
(1) w=rar Fdus FEA

[2) T AYEHEA HEA
(2) T & Al @ A ST S

(4) wF-ae FOME B

134.The Directive Principles of State Policy are borrowed from which of

the following ?

i1 U.s. Constitution {(2) Constitution of South Africa

(3] Constitution of Treland (4) Censtitution of Canada

W%ﬂﬁﬁﬁﬁﬁfﬂ%ﬂﬁﬁﬂﬁﬁmﬂﬁﬁﬂﬁﬁ?
1 1 oy, e # (2) ar3e e % dihad |

tgymlﬁgﬁﬁﬁﬂﬂ‘fﬁ {4}%@%%%%

54



16P/241/3

135.Who is known as the 'Father of Public Administration’ ?
(1) Dwight waldo {2) Chanakya

(3) Thomas Woodrow Wilson (4) Herbert Simon

I ‘SR UITET & WS & =mq ot W ¥ 7
(1) ==E3z gms! (2) =R
(3) etvE F=O e (4) =& HEAT

136.Which is the highest level of judiciary in U, K. ?
(1] House of Lords (2} Supreme Court

(3} Crown (4] Cabinet

9. %. | SeEw w@ A =t A 27
(1] =< g1 2] WA Oy

(3 % (4) wEHE

137.How much is the quorum of the Lok Sabha in India 2
11} One-third of the tota] membership of the Lok Sabhg
(2) Two-third of the total membership of the Lok Sabha
(3) One-fourth of the total membership of the Lok Sahhg

(4} One-tenth of the total membership of the Lok Sabha
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e A i w F B P o ¥ 7

(1) s A =t e wen # 0F fer g
2) SR Fer # g we @i A fed wwera
(3) FF WA T e T H CFH WA A
(4) wH W9 9N S N & TG WP bl HEeE

138. Which one of the following ideas is integral to Marxism ?

{1} Dialectical materialism [2) Nationalism
(3] Socialism (4] Regionalism
ey B B T fram weaE # A R
(1) =awws HikaE (2] T
(3 EHEERE (4) &=aTE

139.°Laws are necessary relations arising out of the nature of things"
Who said this?
(1] Rousseau (2) Hobbes
(3) Locke (4) Montesquied

“Hﬂﬁﬁﬁﬂﬁﬁwmwﬂﬁaﬁﬂﬁ%‘-

gz e @l !
=q (2) ®=H

G (4) WTRER
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140.Who propounded the theory of power elite?
(1} Mosca (2) Pareto

(3) C. Wright Mills (4) Sartori
AT AT H ST F s A E 7
(1) #Hvem (2) T

(3) At TEe-fem 4 wrErh

141. "Justice is the interest of the stonger”. Who said this ?

(1) Cephalus (2] Polemarchus

(3] Thrasymachus [+ Plato

T T A s ¥ 7 g2 Reed gy o

(1) ABTE 2) Oifemrrs
(3) Ereife @) e

142. A money bill can be detained in the Rajya Sabha for how many days?

wﬁ%wwﬂh&ﬁﬁﬂmﬁmwmy
(1) 12 <14 (3) 16 4) 1g
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143. Who wants to establish clase relation between politics and morality?
(1] Mao (2] Hegel
(3] Mussolini (4] Gandhi

wﬁﬁaﬁrﬁmm%mnﬁﬂﬁwaﬂmﬁﬁmam
E?

(1) #waf (2) &=
(3 R (4) e
144.Who among the following is a supporter of limited Sovereignty ?
(1) Bedin (2) Hobbes
|4) Lutke (4) Rousseau

ﬁmﬁﬁaﬂﬂﬁﬁﬁﬁﬁﬁwﬁmﬂﬁ?

(1) arE (2) =
(a) =T

145. National emergency proclaimed by the President continuous for the

period 7
(1) Six months

(2) (ne year

|3) Two years
(4) Till it 18 revoked by the President
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ST B At e A B aeT S R sy e B
(1) & : 7é=

(2) @ a9

(3) =t =

(4) & T gl §8 wue g aea

146.Which one of the following statement is not correct ?

(1) Locke is a liberal " (@ Hepelis an ideatiat

(3] Rousseau is a Pluralist (4} Mosca is an elitist

Frifefa & @ @9 @ a8 =8 3 7

(1) wife I=rarEy ¥ [2) EFmr emesiar R

(3) = AgwaTE ¥ (4) HrER e E
147.The headquater of the United Nation is located at -

(1] Washington (2) Newyork

(3) Londen (4) Paris

(1) aif¥ireT o (2) =

(3) @=+ 5§ (4] Uity 7
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148. Which one of the following is mot a non-aligned country P
i1) India (2) Brazil
(3} Sri Lanka (4) France
Frefifas § @ A qeFae 2 T8 ¥ 7
(1) e (2) @I

(3) sfrerenT (4) WFH

149. Which one of the following is mot truc about Idealism ?
{1} State is an evolved institution
2} Freedom is possible only under the Stale
(3] State is the highest evolution of world spirit

(4] State originates from a contract AMONg individuals

EyTaiEg § 8 B amagian & fagg 7 W Tt e ?

(1) T O [ dear B
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150.By which constitutional amendment Right to Property' was delected
from the list of Fundamental Right ?

(1) 24th (2) 39th (3) 44th (4) 42nd
AU & @Y delee 2w amfy 3 ey 3 A efvsd
o ower G T B 7

(1) 244 (2) 39%F (3) 447 (4) 40F
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ROUGH WORK
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ROUGH WORK
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